0+000,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- C61L
-9l
- 9L

- 997/
- i1

- VLLL

- 6LLL

- 181

- 8LLL
i L9‘é[

- 608,

-G8l

- 0%

- S0

- 611

- 8L

- 611

- (911

- 9GLL

~oo

- SLU

<=
NN

g1l

- 1l

A

- 0L

- 196

RZFDNE TEREN
ODLEGLOSC

04+010,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 6L
- (811
- 8YLL

p/AdA

- 9%

- 608

- 0L

ey

- (911
- 65

- 851
- (L1

- 8YLL

- 9L

- I8

676

IS0~

- 61-
- ng_
- Glo-
L (LS
"8t
- oG-

RZFDNE TEREN
ODLEGLOSC




0+020,00

Pk =

Skala £100/100

PP. = 7400

- 099L [ 009l
OV [ G
- 8L 081
- 978 0L
Fove [ 08 E IR
78 P )
SoEe0eL b oGy
m L TGy
- 1811 - (ST
- 087/ HRAS
178 R 1/
- 9L AT
T |
- 6L 9L F 000
- 897 oYl
- 697 00T
LA
-9/, VAN
-9/ - L5
- 09LL T ST
- og‘gﬂ |6
F (Gl F A£G
C gg‘u - 866
L] G-
- G100
. =
] Lol
O o )
[ha Lol D
a | —
Ll w9
= = (@]
(e [ Lol
[l Ll |
N N (]
(A (R O

04+0350,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 1¥8L

- eVLL
- eVLL

- 06/L
i Qﬁ‘é[

- 108

- 8L

- 8L
- 611

- 908 |

- [88L

- 098,

- Y8l

- 18l

- 00l

- 19

-Gy
A

- &

RZEDNE TEREN
ODLEGLOSC




0+040,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 198

- 1L
- 1L

- 208
- ¥08L

- 08

- Qe

- 008

-
- ¥6LL

- %%,

- L8

-G8l

- 878L

A

- 608
r 908
- 0L

- I6LL

- 6l

- 00~

RZFDNE TEREN
ODLEGLOSC

04+030,00

Pk =

Skala £100/100

PP. = 7400

TR ]
R
L oreLE 06
TR
- ooy - o7
-9 - oy
e Lo
Ly - oot
- o s
- gy - 05
T
L oper LovY
TR
I
8L E g F 0t
LWL -
L g F -
B b s
608 | o [ 5
- o7 - ort-
- e | b
- ooy [t
-0 F
Lz e
LTl F g
L6 0

. =

] Lol
O o )
[ha Lol D

a |
W w9
= = ()]
(e [ Lol
Lt Ll 1
N N ()
(a= (a- O




- A% 009l - 6L o009l
- 6L9L 98
- U8l -89 - 088, - C79
‘ ‘ /A
- 0L - o9 - CLLL - QoY
- OLLL A - CLLL A
- 078/ - 0S¢ - (79l - 0Se
- (8L R4S -G8l A
- 999 9T
- 878l - 057 - IC8L 098 67
B (29‘8[ B (ZZ‘l L (Z(L'\‘gl L (l:l
‘ - 829 S0
- 98L %g A
SRR U - 9°8L [ S78L 000
OF8L " oo
- 078 [ 1L0-
8L T
B ‘22‘8[ B 06‘1_ - a‘g[ - Zo‘z_
- 808/ - 057~ - 1¥eL - 057~
. crio- L po L3S
S| F AL
AT s %gﬁ 690 - 8L - BGe-
99 [ e
- UL Sl
- C09L [ 002~ - 009 [ 00L-
(@] o
o (@) o ‘ = <t ([a») () . =
=L TS| Bl 5| 92 S22 5
S > SEIEIYg &S TlE|l =g
? o N w | w| = ? S I | w | =
&S o =2 =2 O &S = A EE] D
= S g = I o RN =
~ 9 2B s| =<8 2 B S
a W a v




0+070,00

Pk =

Skala £100/100

PP. = 7400

RZEDNE PROU.

- 8%

- VLU
- VL

- 8L
- 908

-8

- 58

- 8L

A
A

- 6L

gYAYA

- 8L

- 18
- 008

- 178

- 8%

- WL

&K
=

A
TS T

009

179

St

[am] ~IOCO O~
LYY C\LN}Q
CNONNMINMIND <ttt

RZEDNE TEREN

/

ODLEGLOSCI

04+077,99

Pk =

Skala £100/100

PP. = 7400

- 0¢%L 009l
- 98%8L - 909
i - Q9%
i YA
L LS
A - 0G%¢
- 608 Al
- S8 F V8L 06T
- 609 19]
L 618 L /8D
93 | 6.0
98 190
- OFeL 9% 000
- 009 L0
PR Y -
- GY9L T WL e
- ow e
- 659 A
- 609 A
- 909 | oS-
- 6L 00—
.| =
e Lol
O o )
[ Lol D
a | —
L w2
= | =Z| O
i = |
o | o |
NN B2
x|l x| O




- 160 009l - 0v'eL 009l
-8 FIGH
I VAT
- 9ge/ -89 - 169, -9
- 168 §9G
- 8L - 9% - 1811 - 9%
- 8Ll VA - gL | au | o7y
o [ LELL 86“% - 1cy T gg“g
- 058/ - GlY - 08/ SeAY
- 958/ 067 -6peL | . b 0T
L 8(2‘8[ L ﬂ‘z B 9178[ B 9Z‘Z
AT ] e 19l
. ‘ L4790 L 160
- 8T @80 " 008l [ 80
98/ [0 SRvA TR L)
F L A8 000 - RLFIZ8L F o000
-6 F L - 078l b oo0-
o L at | ST
- 9’7‘8[ | o9 € OQ‘Z_ L 6’7‘8[ gl‘gl E OQ‘Z‘
- %gf - @%- - 98 G-
- 0r'8L -GS - 8L o | ggjg:
O | a0y F BAA R
bt - aw |
- 611 | 001~ - Q0L |00
(@) o
o () S . = <+ o () B =
D > S~ E|E QY o> ~ EIE| >
28 Holwl gl 22 | w| S
S = =2 =2 B &S = =2 =2 B
[al [ D Ll [al () M (el
= o | K a U= o | K| | a
= < o o O = X o o O
. W a w




04+090,00

Pk =

Skala £100/100

PR. = 7400

- L [ 009l
- GZ6L [ OVD
AT
- 0811 - gfza:v
- @l - ol
- 998 [ 6%
ol - 0e
-8 oA
o w69
-9 09
oA T
F 8L T U0
I /T Y
- SY8L [ €78 000
- S8 T 190
- 078 T 8-
L F ng_
R [
- 8L - Gs-
- 808 | 109 F %:g:
AR
- 09 T 00

. =

2 Lol
O o )
[ Lol Rop)

a | =
| w9
= = (@]
D [ Lol
Ll LV —
~N ~N (=]
o o O

0+100,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

A

- 9L
- 9L

-9/
- 878

- 8L

- BY8L

- 168,

- 878L
- WL

- [S6L

- 66

- C0%L

-G
- OVl
-y
oyl
a
-
- 18

- V8L

- 0%

- 66LL

- 8L

- 9G6L

AT

- 688

- /81

- 9y

67C
A

Ay
i

- L0
- 000
- 160~
- 1L0-
- 9f1-
- 052
19
- GCe-
A
- 206-

- w‘g_

- 00~

RZFDNE TEREN
ODLEGLOSC




0+110,00

Pk =

Skala £100/100

PP. = 7400

- 9GB. [ 00'
- OCBL  OV'D
- $5BL 9601
- 5% T8
A -89
s ZA A IR
- 061 - Q9
- g b
- 606 vyy
- Ov8L 4
m 8L YA
- 8r'8L 1/
- 198 6l
- Gv8L  G8D
-0Vl 650
- 0GR TRl 000
- e 890-
- el
L ooy I 587 [ brd-
88 gL
- 758, A
- 8L ST8L T oL
- Q8L o0

. =

] Lol
O o )
[ha Lol Rop)

a | —
L w9
= = (@]
(e (e Lol
[l Lt |
N N (]
(A (A O

61~
9~

090~
’VQOO-

=(0+120,00
Skala £100/100

Pk

PR. = 7400

- [G6L 76T
- 066 - 8
- 3Gl L
L 617‘6[ B Ogﬁl C [Zété
- V6LL - GOy
R A
- 8L - 068
Fov | oot
- 068 - G6¢
- 7G8L - 06¢C
- 998/ 9?
c098L [ ¢
T IG8L T 6Cl
- 678 F 200
S T
- 618 [ 180~
- 8L o0l
- o8 6
- 79%L - 0G¢-
- o - ot
- 008l - 09¢-
- 808L 001~
. =
2 Lol
) [ )
[ Lol Rop)
o —
o ow | 2
= = ()
D [ Lol
Ll LV —
~N ~N (=]
o~ o~ O




000

¢yl-
-

0L0-
0900-

100 |

90

qy,
w00

=(0+130,00
Skala £100/100

Pik

PP. = 7400

S o T/
- ICE Fo0sOl
- 0GR FCYY
- 816 - 069
" 8L L F E;%
WL oveL T A
- 8r'8l - 0E
- 068/ Ay
968/ I %ﬁ%ﬁ i zg%jz
898/ 91%
L e | 0
- 199 E 8 ;98%9
[ggl [l‘o_
- 158 F 06—
- 998/ - 067~
- 098 - Gro-
- Ohe - ge-
- % b o0

. =

] Lol
O o )
[ha Lol Rop)

[al —
W ow | 9
= = ()]
(e (e Lol
[l LV |
N N ()
(a= (a= O

Il-
Ovl-

199~
[GOO-

wo-

o O
S O
O
ié
+
O
o)
O
X
(7p]

Pk =

PP. = 75,00

- SB[ IcD
- 66 b G
- 6VBL [ #
SVl IEL
- LyL - 089
- 08, - szaiv
AL LT
-G8/ Y
- I AY
TSR L e i
- 098L 1 8L8LE ¥
A v/
8L §07
- o9 Fo90l
b 98920
- 99 9% ¢ 000
- 99 F GY0-
- 1980 £9)-
- 9% F 0bl-
-0/ - 05T
L 199/ L CTo-
" /G " T
- 008 199~
-9 F 00

. =

] Lol
O o )
[ha Lol Rop)

a | —
L w9
= = ()]
(e (e Lol
[l LV |
N N (]
(A (A O




g~
-

e

=(0+150,00
Skala £100/100

Pik

PP. = 75,00

- Y56 050
- 0G6L - 6L
- 6Y6L - 69
- Y6l - 206
- 90, - 97
- 908L [ SHEL £ GCh
- 9%6L F 00
- 968/ - 0%
- 58 -
o [ B
WL g Gl
AT ) 4
- 8L8L 650
- 699 - 9/8L 000
A
-l %l
- 088 - 061-
AR
L 899/ L G-
8L I8
- 9% UG
- G800

. =

2 Ll
O o )
[ Lol D

a- —
w9
= = [
[ D Ll
Lr Ll —
~N ~N [
o~ o~ O

0+160,00

Pk =

Skala £100/100

PR. = 7500

- G669
- IGH F0GL
- 0G6L -G
- BY6L [ 165
LT N )
- o [ S E L
, 05
- 098 A F O
F s | LEF 8%%
99 [ éggf s %%
- L& L 0G¢
@B [
088 oSl
-89 690
AT T R\ [)
- L[S [ C0-
-G8 07l-
- OIS 6Yl-
- 19T 6L-
- 8/gL - 0GZ-
L7/l | Gt
699/ 0°e-
- BY8L [ 00L-

. =

e Lol
O o )
[ Lol D

- —
L w9
= = (@]
[ (e Lol
Ll Lt |
N N (]
(R (A O




0+170,00

Pk =

|
80
0000

o
o
~
(@)
=
L)
(=)
~
w)

PP. = 75,00

- IGE E oL
- ol T = 619‘8
-8 -9y
P WL E BT e
- GY6L FzEe
- 9L - 0ot
- o0e -Gt
) . o6T
- F B E 060
069 [ 33
ST T
- oo/ b/
A
T LLBL T gr9l a0
- b st
- b oogl-
IR
- 9L - 007~
Loy L ore-
899/ iy
- eeRL b 00

. =

] Lol
O o )
[ha Lol D

a. —
Ll w9
= = ()]
(e [ Lol
Lt Ll |
N N (]
(A (R O

000

8-
81-

s

60~

=(0+180,00
Skala £100/100

Pk

PP. = 75,00

-6Vl P 5L
- 9L - 969
gt | oor bSO
88 (6L 79"
- 88 - QZ‘{;
o F oo bo%E
- 898/ -

- 0/%L i 8%%
- OB ocoeL F ,9%
- 9% 6l
- %%/ 6t
T 688 [ 1S
- 988 /8D
- I8% F B 000
- LL8L 00
-9 F -
C %‘gé C %%:
Fogy | LG
- 089/ - R b Gle-
T 98L A
- GG8L [ 001~

=

= | g
O o )
[ Lal D

a | —
o ow | S
=Z= | =| &
T Bl P I |
oy | | —
N| N| O
x| 2| O




0+190,00

Pk =

Skala £100/100

PR. = 7500

- STl
- oYL -9
R ARG
K Al
o | 05e
[ OB e E S
WL T gt
ER YAV v
- 088 - 05
ey T
XA
-9 80
- 88 L0
- 88 i8R 000
- L8 O
- S
- 068/ - 05T
-9 9&;;—
- 19 - G-
- 198 - G-
- ogeL UL
AR

. =

— Lot
O o= D)
[ Lol D

a | —
L ow| S
= = [
=) (e Ll
[ L —
™~ ™~ [
(0 (0 O

a1-
-

%
%0~

04+200,00

Skala £100/100

Pk

PP. = 75,00

- oYL AL
- CVEL | eyl b t’%‘g
- 978L - Qo
A YA
4 3 Og(L‘
- 98 B OF
g | H K
- 188 - 067
- 906 1L
- 688 - <0l
- 098 + 650
Cr@ur %o
- 688 88/ r 000
- (89 690~
-9 o Igl-
- e L8 E 6&%:
B T
| oge [ 698 F B
- 898, 5 gg“g—
- 799 60
- 769 00—

| =

2 Lol
O o D)
[ Lol D

a | —
o w2
= =Z| O
S| 8 @
o | o | —
N N (]
x|l x| O




0+205,06

Pk =

Skala £100/100

PR. = 7500

ST VA
- Ii6L - 979
LT YA
- L7 - 0%
- (281 -Gy
Ly b o bl
- 6L8L RVAY
- g9/ A
0L 951
- 068L [ 160
L ogeL L /50
« [ 088 [ ¢¢0
- 068 1 [g9/ 000
- /890 F Q-
-89 b ooyl-
- C69L - 0G7-
81 usL + Lzé:Z:
- e - oreL b &L
- 699, - g
- 999 F oy
- 759 | 00-

. =

e Lol
O o D)
[ Lol D

(mi —
L w9
= = ()]
[ [ Lol
Lt Ll |
N N (]
(R (R O

000

0+210,00

Pk =

Skala £100/100

PR. = 7500

RZEDNE PROU.

- (561

- 088
- 088

- 088/
- (88L

- 988,

- C68L

- 868,

- 8L

- 63 E

- 5L

- 5L

- 06l
- IS

- 958,

8z

- 979

TTTT T
o]
Z=g

L 00‘ /-

RZFDNE TEREN
ODLEGLOSC




91-
-

%90~
190-

90~

04+220,00

Skala £100/100

Pik

PP. = 75,00

- oL W9
-0 S
- 6L 699
- 0L - (79
- - c9Y
- -y
S T A
- 789/ - 0GT
- 8% HRAS
- 068 | . b 05T
- OB SL
YA (]
- L0600
- 06 70
- G68L | 668 F 000
- 968 [ 960~
- 006 [ 921-
- 068 [ 107-
- 00%L - 057
ey ogy b
WL ofe-
- 088 T g/t
- 88 Q%
- 008l 959
- 898 [ 00/-
. =
] Lol
() [ )
[ha Lol D
a | —
wl w9
= = ()]
(e (e Lol
[l LV |
N N (]
(A (A O

000

121~
%2l-

890~
890~

670~

=(0+230,00
Skala £100/100

Pk

PP. = 75,00

-9 e
. - L 29
[g6L [ 906 F G
AT R )
gy [ SELE G
- 181 - 0gs
- 681 -GS
- ogeL - 052
-8Bl T 10T
I T
iy TR |
TR |
-6 E 990
96/ | 690
- 069 [ AL b 000
- UL 280~
o L 057-
o [ BT
L 688/ L G
068/ e
-1 0L
. =
o (|
) [ )
[ Lol D
a | =
L w2
= = (@]
=) [ Lol
Lt Lt —
N N (=)
(R (R O




0+240,00

Pk =

80

120~

2%

Skala £100/100

PR. = 7500

RZEDNE PROU.

- V6L

- 98
- g8

- o/
- [98L

gAY

- 8%/

- 098

- L8
698L

- 6L

- 9C6L

- e
- 106

| 206L
= 06/
06L

- 006.
- 669,
- 169/
- g68l

- 99
- 609
- 808

- 198L

- 9%

- 858L
- 58L

- Qo

609

T
g
~

L
2
N

L
&
N

- 009-

- 00~

RZEDNE TEREN
ODLEGLOSC

0+230,00

Pk =

Skala £100/100

PP. = 75,00

- 056 F 0D
- 676 965
- [Tl b 658
- 08 699
- 0%, - 079
- G0BLF 9L
- UL 60
F08L | e, F S
[ o [ UL s
g |
oy [ 808 &
- BgeL 057
- 99l b 68 000
- 69/ b 190~
- 69/ 880~
Lg% L /S
188 1931—
Lo e
- 698 [ 9%/ [ 05
R AR
L o9/ LT
658/ j¢e-
- o¥eL o5
- SI9L F 995
- 8L+ %G
- 9L 00t
. =
- Lol
O o )
[ Lol D
a | —
W ow | S
= = ()]
[ [ Lol
Lt Ll |
N N (]
(a- (a- O




0+260,00

Pk =

Skala £100/100

PP. = 7400

RZEDNE PROU.

- 9%

- (811
- (811

R
678l

- Gy8L

- 058,

- 608

- 68l
- (98

- GG6L

¢

- 1Z6L

- 8L
- L%

- UL

- 868,

- 188L

986l
- 1G6L

Y

¢

8o
66t

YA
- 969
859

A

- 99
A

- &
- 987

L oo~
[ e~
£Ge-
g
G-

- 09

- 00~

RZFDNE TEREN
ODLEGLOSC

04+270,00

Pk =

Skala £100/100

PR. = 7400

- LB 009
- SR - 187
- 86 HY
- LTBL [ 6S1
- 8T8 101
Ay
- Q06L  60L
- 968L - 0G9
- 068 09
e [ BF &
- CL1L YA
- $78 - 05
- GC8L -GS¢
- 188 - 062
- 99l Bl 000
- Y8 - 08
e~
[ e
B ’7‘2‘8[ B 19:(2_
- W8 O
- 9% [ I8t
A YA
- e b ooy
~ 908  00L-
. =
o (|
O o )
[ Lol Rop)
a | —
ol w9
= = (@]
[ [ Lol
Lot [l —
~N ~N (=]
(R [a O




0+277,06

Pk =

000 i

901-
901-

950~
760~

80~

150~

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 698,

- 9L
- 9L

- 8L
m a8

- 128l

- 978

- 1g8L

L Grgl
98

- 6L

- L

- 698,

- 698,

- £98L

- 168/
- 608L

- 0%

- 8L
A
- 0%

L
66%[

A

- 090l

- 50

- 79

- 9y
A

- &

RZEDNE TEREN
ODLEGLOSC

0+280,00

Pk =

000

001-
001-

060
g0

wo-

[£0-

Skala £100/100

PP. = 7400

RZEDNE PROU.

- 658L

- 65LL
- 65LL

- 6038/
r 8L

- 4%

- 8L

- L8l

- Q8L

- 1gel L

- 1L
- 1y6L

- 8C6L

- 66

- 658,

- 658,

- 009
- 69

- 69l

wa

89
- 99

-9y
A

- 05
- &

- 097

RZEDNE TEREN

/

ODLEGLOSCI




0+290,00

Pk =

680~
680~
i |
150

Al }

2%
o=

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 808,

A

- 108/
" L6LL

- 1%L

- 669,

- 1¥8L

- 8L

- 8L

- yE8L
R

- 6L
- G6LL

- 66LL
- (611

- 68LL

- UL

- 009

Ay

8
~

- 05
- &

- 097

RZEDNE TEREN

/

ODLEGLOSCI

0+300,00

Pk =

Skala £100/100

PP. = 7400

RZEDNE PROU.

- 008,

- 6.1
T 8L

- 66%.

- 068L

- 8L

- 8L

oAl
- 609,
- 009
- 9910

- 98LL

- 81

- 181
- 811

A

- GLLL

- 009

il

&
~

- 597
A
- 058
s
- 1T
- 05¢

RZEDNE TEREN

/

ODLEGLOSCI




> St - £ | | [ | | |

g & B E% B &858 5 BoLss & = 050793700

g 3 2 ¥ s = I = NZH3L NG
7 33 & 3 = 3 no TOMd T

00/ = 'dd

000
0-
10~
"
0.0
40 ﬁ
il
'“&GZ\ |
Q0

= = & g 88 001 /001 DP¥S

00°025+0 =Id
2 g g SSEEE B 3| B8 & s s & 050793100
2 2 8 = = 33 = ) eaem
| | = mm_ = S ) m = Mm | TOMd NG

00/ = 'dd

001/00L1 oS
00°0L5+0 =1d




0+350,00

Pk =

000

650~
650~

600~
100~
100~

g
[Q\]
100

600
80
0000

Skala £100/100

N\

PP. = 7400

RZEDNE PROU.

- oLl
- AU
- AU
o
-

- VL

- 611

- 9%

- L
Lo
- Ul
- Wl
- 651
- oLl
- 0L

- 0LLL

&8
=

S

- 99
A

- &

L0
s
- 190-

R

-
i
-

- 99

- 00~

RZFDNE TEREN
ODLEGLOSC

890~
690~

f

940

2%

=(0+540,00
Skala £100/100

Pk

PR. = 7400

- 108 009
- L1160
- L L
- 6LLL - 09%
- WL - 0%
- L YA
- 1911 - 05
i 99‘%[ -GS¢
L - 062
- 06LL Gl
Loy L 90
Lo FEE @
LL @g‘f[ 600
- CL1L | ¢80~
050~
- L1911k GG
Al C Olﬁ[ - GL{-
gy | SLLL [BL
- 697 [ 0GY-
- 191 00
L=
= | g
O o )
[ Lol D
a | —
ol wl| S
=Z | =Z| O
=S| Bl m
o | | —
N N (=]
x|l 2| O




0L0-
10~

£70-
10

940

2%

= 0+350,00
Skala £100/100

Pik

PR. = 7400

RZEDNE PROU.

- 811
-
-

- 1971
i ‘29@

- 89/L

- VLLL

- 611

Yy
i L9‘é[

- Sl

N RL 83
kKRR KRR

- 911

- 911
- (911

- WIUF

- 8YL

- 661~

- 66~
E GZ“Z‘
e
- 601
-9

RZFDNE TEREN
ODLEGLOSC

0+33107

Pk =

I

Skala £100/100

PP. = 7400

RZEDNE PROU.

- Sl

- 8L
L7/
Wi

- Sl

- 911
- (911

=2
S5

- L

- 196
- 08
Gy
- Gy

- &

- 10

- -
- 8LY-

RZFDNE TEREN
ODLEGLOSC




90~
190~

8.0
0=

a0

2%

o= |

= 0+560,00
Skala £100/100

Pik

PR. = 7400

RZEDNE PROU.

- eL1L

- 80LL
- 80LL
- 86l
i 09%[

- 9L

- L1

- 911

9L

TR

- 1L

- eL1L

- eL1L

- 1
- 811
- oLl

- e91L
- 1971
1L
- 9L

- 9L

- L1

- 095
- S
- 9y
A

- &

L 00‘ /-

RZEDNE TEREN
ODLEGLOSC

10~
10~

170
60

a0 |

2%

=(0+570,00
Skala £100/100

Pik

PP. = 7400

RZEDNE PROU.

-9/l
- U
- UL

- GGLL
- (Gl

- 09U

- S

L (911
1911

- 911

- 891L

- 009

HR/AY
- 597
A

- 05
- &

- 097

LE 000

- 120
- 160

L 00‘[-

RZEDNE TEREN

/

ODLEGLOSCI




U0 |

2%

1o
m‘
o

= 0+530,00
Skala £100/100

Pik

PP. = 7400

RZEDNE PROU.

- 0L
- 0L

- 1GLL
- (Gl

- 65

- 6911

L 19LL
6G/L

- (911

- 9L

i
- 6911

- 9GLL

- 0911

- 6L F

- 851

- 6GLL

- 19U

TT
<
=~
~+

- 007

RZFDNE TEREN
ODLEGLOSC

04+390,00

Pk =

Skala £100/100

PR. = 7500

RZEDNE PROU.

- 1911
- 669L
- 669L
R
r 0G/L

- 95LL

- 19u

- 1911

L 1971
LGLL

- VL

- 69LL

- 1911

- 1911

- 1L

- 0911
- 9GLL
- 851

- (GLL

- GLL
- 1L

- 851

- 6L

- 009

956

9L

- 896
- 926
- 597
A

- 05
- &

- 097

- 002~

RZEDNE TEREN

/

ODLEGLOSCI




000 \
090~
090~
oo
1£0-
0~ (

2%,

I

0o

2%

T

800 i

——

00
000

0+400,00

Skala £100/100

Pik

PP. = 735,00

RZEDNE PROU.

- BLLL

- 969.
- 969,
- 9L
A
- 911

- 8911

- 19U

L 9611
B

- ¥8LL
- 8L

- 1L
- 1L

- 811

- 611

- 6LLL
i 6[%[

- 1811
| [S1L
E gg[[

[l

- 1L

- GLL
5LL

- 9SLL

- 009

A
- 60

- S0

- 066
- 597
A

- 05
- &

- 097

RZEDNE TEREN

/

ODLEGLOSCI

0+410,00

Pk =

Skala £100/100

PP. = 735,00

- 86LL [ 009
- C6LL [ 59Tl
L BLLL LGB
- QLI E GlB
8LIL| I
- S
Sl dlL
- 8L - 16
8L S
P
- 069/ - 59
- 069/ A
- Oyl - 0S¢
- L R4S
- 061, - 067
- 9GS o000
- BSLL F Ofl-
- 85U 9~
A A
- 191 - 0G(-
e Lo | &
L oc// b L h
" 0077 E 0917 E K-
[y
0971 by
L] 6%
= v/l E Sl
Wil | 8-
- 6YLL [ 00~
‘ =
2 (|
O o )
[ Lol D
o | —
O ow | 9
= = (@]
[ =) Lol
Lot Lt —
N N (=)
= (R O




980~
180~

0+420,00

Pk =

Skala £100/100

PR. = 7500

- '8 00
- 08 T
- e - o
- L 192
- GgLL - 109
- £69L - g%jg
- 969 -9y F g
- YL - 058
i A
-89 [ 6L
- o b 05C
OSLL L gy b e
- 9L 0l
- SISO
- 9GLL 9L 00D
- WL a1
9L L gy F %%:
L /L[ SSLLE b
111 &
- @l )
I Uy
- IGLL [ 60
- UL 0L
. =
2 Lol
O o )
[ Lol D
a | —
W ow| S
= = [
[a=) [ Ll
Ly Ll —
™~ ™~ 0
oz oz O

901-
w01~

15D~
oo

= 0+430,00
Skala £100/100

Pik

PP. = 735,00

RZEDNE PROU.

- 608,

- %9
- %69
- L
A
- €6

- 851

- 9L
- 851

LA

A

-

- 08

- S

- 19U
- 851

- 96

- 9L
- 91

- 091 F

A

- 189
- 69

- 08
- 9y
A

- &

RZFDNE TEREN
ODLEGLOSC




0+440,00

Pk =

Skala £100/100

PP. = 735,00

RZEDNE PROU.

giRYA

- B69L
- B69.

- 6vLL
- 0GLL

- 9GLL

- 19U

- 191
L 19/
al

- 4%

- 4%
- 0%

- 0%

- (911
- i1l

- (GLL
- 9L

- 997/

- 65LL
- 8GLL

- 097L

- 9L

- 009

A
- 00
A
- 597
A
- %%

- 05
- &

- 097

- 00
- 000

- 080~
g~

L 0G0
65¢-
L e

-
-0

L 00‘[-

RZEDNE TEREN

/

ODLEGLOSCI

101-
£01-

%0
650

100~

100~

0o
000

0+445,02

Skala £100/100

Pik

PP. = 7400

RZEDNE PROU.

- 611

- 0L
- 0L

- 05U
- (Gl

- 851

- 68

- 6%

- 808,

- 0LLL

- 09U
- QL

=}
=

L 00‘ /-

RZFDNE TEREN
ODLEGLOSC




160~
%0~
9,0~
Gy 0-
wo-

= 0+450,00
Skala £100/100

Pik

PP. = 7400

- 179 009
- 179 F 156
- oglL 989
- (811 - 06
- 107L - 9%
- 10, - Gl
- 1GL - 0GT
- (GLL HRVAY
o L7 R o 4
1 TR Y4
8L [ 0
- YOLL P00
- L9 160~
IRy
L o) [ -
69°/L ll‘ll 83%_
Ly TS G
G e
- 091 0%
- 0L S
- 9L 0L

. =

- Lol
O o )
[ Lol D

a | —
L w9
= = (@]
[ [ Lol
Lt Ll |
N N (]
(R (R O

0+460,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- (GLL

- L
- L

- GIL
rLGLL

- 9L

- 89/

- Sl

- (911
i l9‘é[

- 8L

- 8L

- (8L

- 1L

- 9SLL

Yy

O
P~~~

T

- 8GLL
- 8GLL

- 9L
- 9L
- 1971

- 911
B Z9‘é[

-9

- 269

- 180

- oS
- %Y
- oy
o

- &

RZEDNE TEREN
ODLEGLOSC




0+461,65

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 9GLL
- L
- L
- 9GLL
rLGLL
- 9L

- 891

- Sl

- (911
i l9‘é[

- 8L

- 8L

- (811

- BYLL

- BYLL
- 0GLL

61l

- 097L

1611
= G’V‘ZL =

- 68l

1T
=
T

- 00~

RZEDNE TEREN
ODLEGLOSC

0+470,00

Pk =

90

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 911
- 80LL
- 80LL

- i

- 9L

- L1

- 9L1L

L 0//L
99%[

- 008

- LU

- 65

- WL F

- 911
- (911
- 89U

- LU

- UL

- 65

- 9LL b

- 190

A

- L9
5

- 9y
A

- &

- g‘g_

- 00~

RZFDNE TEREN
ODLEGLOSC




680-
830

50
&0~

80

0+478,29

Skala £100/100

Pik

F
I

PR. = 7400

RZEDNE PROU.

- 108

ee

RIS
Rk KRR

&8
=

- Sl

- 8LLL
- Sl

- 9%

- 108

L CLUL
SL1L

ey

3
=

TT
o~
~
OO

L 00‘ /-

RZFDNE TEREN
ODLEGLOSC

60~
%0~

170~
670~

&0

04+480,00

Skala £100/100

Pk

PR. = 7400

RZEDNE PROU.

- 908,

YA
- Wi
- 19
r 9l

G

- 89U

- VLl

- 6L1L

oL
WL

- 178

- 108,

-0
ANy

- 809

- 805
- 9y
A

- &

1T 650

<

" C0-
- 001-

L 91‘9_

L 00‘ /-

RZFDNE TEREN
ODLEGLOSC




660~

660~

670~

1y0- |
Wo- ||

0+490,00

Skala £100/100

Pik

PP. = 7400

RZEDNE PROU.

-l

- QU
- QU

- 9L
r L

A

- 9LLL

- 19U
Lo/l
81

8L

A

A

- 8L

- 009

-9y
A

- 05
- &

RZEDNE TEREN

/

ODLEGLOSCI

000 N
cgo-
cgo-

50
&0~

o=

=(0+300,00
Skala £100/100

Pk

PP. = 7400

- U9L 009
- IBLL 98
6L S
- 6L - 686
- UL -9y
- UL A
- 1940 - 05T
- 097[ R4S
- 69'LL - 057
aRALIR |
L 1’[[[ C £6// C (%‘8
- L9750~
UL -
- Sl W
- 6L - 057
L G
-8t e
- SLLL 19
- VLLL 9
LT 00

. =

2 Lol
O o D)
[ Lol D

- —
w9
= = (@]
[ [ Lol
Lot Lt —
N N (=)
= (R O




600~

0+510,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 68LL
- L
- L

- 9GLL
rLGLL

- 9L

- 89LL

- Sl

L (911
w1l

- 0%

- 06LL

- 98LL

- QU8L |

=]
<

ILa

IGL

- 165

- 9y
A

L 05
=AY
ae

- 00~

RZEDNE TEREN
ODLEGLOSC

060~

630~

50
70~

[0

0+520,00

Pk =

2%

w00

Skala £100/100

PR. = 7500

- 408 009
- 008 [ LY
- 9600 [ SL9
- 06LL [ §CL
- 681L - 209
T
- 869L - 9f
- 869L YA
i - 05
- 0G/L -GS¢
- OGLL - 062
- 08/ 9l
- L9050
- 97 F 9L 000
- 1970 oer0-
- 091 -
- S [ Tt
- 997/ - 06
Ly | -
QL | i b Ql‘g:g_
L Lo
L G
L 9971 L 989~
9L [ 00L-
. =
o (|
O o )
[ Lol Rop)
a- —
ol wl| S
= = (]
[ =) Lol
Lot Lt —
N N (=]
(a (a O




880~
80~

@0
o0
0

2%

00

=(0+530,00
Skala £100/100

Pik

PP. = 735,00

RZEDNE PROU.

A
A

- L
Tl

- BYLL

- 5L

- 6GLL

L (Gl
tei1

- S0

- (811

- oL
- 691l

- 9GLL
- €6

- Coll

RZFDNE TEREN
ODLEGLOSC

04+540,00

Pk =

o=

2%

wo-

100~
000

Skala £100/100

PR. = 7500

- 108 F oy
- L S0s
-9l 09
- 6L1L - g9
- il - gszajv
CELL e
- Ll - 058
- o1 - ot
- L - 06T
Sl b
- S 000
- SLL F 80
- BFLL 00~
- eI
i L 057-
CUL ey b o
gy b SGLLE G
I &
- BYLL Y-
Gyl L 769
&1 [ 007

. =

o (|
O o )
[ Lol Rop)

a | —
L w9
= = O
[ [ Lol
Lot Lot —
N N (=]
(R [a O




60~
60~

-
0y0-

-

2%
=

120~

2%

100
100~

000

= 0+550,00
Skala £100/100

Pik

PR. = 7500

RZEDNE PROU.

- GLLL

- 089,
- 089,

- 08/
m L

- 8L

- eVLL

- 8vLL

i
i 617%[

- 008

- 69/
- ng‘u
- 0971

- 8YLL
- oL
- 0GLL
- oL
- L

T TT
@@@(9

- 80

- ¥5l-

e
- Gt
9%¢-
L A‘JV_

L (28‘1,_

L 00‘ /-

RZFDNE TEREN
ODLEGLOSC

ZA I

2
<
1

= 0+560,00
Skala £100/100

Pik

PP. = 735,00

RZEDNE PROU.

- 99U
-89
-8
A
Ay

L 017‘[[

- SrLL

- 0GLL
L w‘u

- 661L

- 181L

- 9L

L1

- 697/
i 69%[
- 99/L

- OvLL

- gL
- Gyl

g

aay

- 009

'

%9
- 166

-9y
A

- 05
- &

- 097

- o9l

L 88‘1_
- 06T
- 97e-
- (8¢~

L 7G
X'

L 00‘[-

RZEDNE TEREN

/

ODLEGLOSCI




- 610 F 009 - % E 00
-6 9T
- o8 Sl
- 09 998
ST P
wo K - - UL g [ UL %
U - g9 - o - g9 S
o0 - g9 - o - g9 - ory
T - oy -0 970 il L 05
o iy s y0- - &t s
‘ Cbeut o ‘ Lo
10 - ey - 06 120~ P b ogu r %
I
N
wo- - S8YLLF OLLL o000 920~ - GLL 9Ll o000
o UL e | o
N - 99 b0z
L 3 | ¢ ' — ¢ - m_
00 oo [ OB RN s
100 i - L0l b ooy b ES
000 b 8t- P L L
- YL RS
- YL E |
e b BYLL I 0
I -Gl F TG
OFLL | 165 S e
- ST 16 - T T OO
o o
oo ) . = o o S . =
EE =2 2|B|lg| 58 SEIEE
=) Sl E8] 8S o =B
e’ W | w | = e’ | w | =
O = alBalalal o= ol Bl ald
e P g T g - N o A | b | =
~ g MRl 8| <X 2 BB
O W O W




- 6L 00 - G/ 00
- 08 oo
- g gl
Ly . GG -yl - 8¢
B F g o Lo
VIR A
- 169, - Qo 190~ - 169, -5
- 169, - Gl cg0- - 169. YA
-y Y o= - L Y
- CVIL HvAY 7o - 9L/ HvAY
- 6L - 062 00~ - S1L - 067
- 08 ool
-G S8 000 o0~ - (G 06LL F 000
B [8‘[[ B g‘l‘ - 176‘[[ - 6z‘l_
) B S VT A
A ;8%%: o - 9l - (G-
ey [ WL B Q- ooy oo p 6
&1L e 09LL re-
- (Gl F 16T
- OSIL T
B lgﬂ B Z[’V‘ - ngu - 98‘1,_
- 9GLL F 96
L 4G/ L CTY-
GII [ 69~ -8V F Y-
- 1L 00 - L 00
o o
o o > ; = O o > ; =
S 2 S S| Bl sl S8 S S| B s
I > SlEIEIg g5 ~lEElg
Yo | w | T Q | w |
&S = =2 =2 O S = =2 =2 O
[ (e ) Ll (el () [ Ll
e P T g T g I o A | b | =
~ O NN a2 ~ O N | N &
= X [n (n O = X [n [n O
. W a. W




> = £ |

2 g S LS55 85 B 5 us & & & e 050793700

1 1 1 1 1 1 11 1 1 11 1 11 1 _/__/_

& g = g £ = = 23 NTH3L INTTZY
% 28 = =2 = S oo TOMd INTIZY

00, = "dd

Sb b L _ & S5 001,/001 DP¥S

B g s 5 . 07940 = 1d

= g Z %55 8% B 8§ 8 o St &b & 0507937100
3 = 3 282 88 = R NFAL INTIZY
5 88 = & = 3 38 TOMd NTIZ

00¢L = dd

001/00L1 oS
00101940 =>id




0=
-

£90-
090~

0+620,00

Skala £100/100

Pik

PP. = 735,00

RZEDNE PROU.

-89
-8

A
Ay

- OvLL

- SrLL

- 0GLL

o
R

- 86LL

- 661L

- 1611

pRALA

- (611

- 68LL

- (GLL
- (Ll

- 1L

- 009

176

- 169

- 4%
- 597
A

- 05
- &

- 097

RZEDNE TEREN

/

ODLEGLOSCI

0+6350,00

Pk =

Skala £100/100

PP. = 735,00

RZEDNE PROU.

- 661L

- 999,
- 999,

- 9L
i 81%[

- VL

- 6CLL

L

L 8Ll
6CLL

- (611

- 1911
- 911
- eVLL
0L

- 6CLL

- 9LL
- UL

- 009

- 067
o7
- B
- IS
-
- e
- 00

RZEDNE TEREN

/

ODLEGLOSCI




0+63191

Pk =

Skala £100/100

PR. = 7500

RZEDNE PROU.

- V6LL

- £99L
- £99L

- L
i Ql‘é[

- ITLL

- 9CLL

- ILL
- Ll

- 19U
- (L1
iz

- VCLL
R
- WL

- 9L E

- g
- 0L
L 199
T 169

-GG
- ogy
Y

- &

- 9%
A

WAds
- ﬂ‘g_

RZFDNE TEREN
ODLEGLOSC

04+640,00

Pk =

Skala £100/100

PP. = 735,00

RZEDNE PROU.

wu

059,
059,

WL
wll
WL

S
=

88
NS

- G6LL

- 961L

- 66LL

- 911

iy

- 009

A

- Y

- 66

- 886
- 597
A

- 05
- &

- 097

Iél
TS

RZEDNE TEREN

/

ODLEGLOSCI




0+649,57

Pk =

Skala £100/100

PP. = 735,00

RZEDNE PROU.

YA

- 9L
- 9L

- 199
- %Y

- 69

- 69

-9 |

L oY
{99/

- VL

- 9GLL

A

- 089

- 80U
- 0L
A
- 689

- O0F9

- UL

- Gl
Al
- 000
- 070~

RZFDNE TEREN
ODLEGLOSC

04+630,00

Pk =

Skala £100/100

PR. = 7500

RZEDNE PROU.

- G

- 9L
- 9L

-

- 169

- 69/

- 169

L

A

- GGLL

- 699

LY

- 011
- Q0L

- 169
- 68

- 8%

- 8

- 69

- 699

- 8L

A
L by
A

- &

-o¥el
- 9.0

- 000
-0

RZFDNE TEREN
ODLEGLOSC




600

04+660,00

Pk =

Skala £100/100

PR. = 7500

- 969/ [ 009l
- 069, WY
- 9L oYe
I LT
- 799, - 4%
- L79. - 9%
- [T -Gy
S 9Lk 05e
690 [ 619 9
- gL - 067
ST A
-G
- 0L Ol
- 089 L9 F o000
U9 F B0
-9 F Sel-
- Gl - 067~
B T Y
- 699/ A
- 69/ " -
- 9L 00

. =

- Lol
) [ )
[ Lol D

a | —
L w9
= = ()]
[ [ Lol
Lt Ll |
N N (]
(R (R O

IS0~
&0

00~
100~

—

S N | I

900

0o

= 04+669,49
Skala £100/100

Pik

PP. = 735,00

- OGO 009
s A Al
- oYL 168
- 1G9 b 099
L g0 b gy b S
AL IR LT
-3y L
-y A
- 199 -0
L83 oy FOSE
WO ove e
oA T B S o/
SR A
- oo/ b9 (00
I & f e
- 659 [ 6ll-
- 0oy LY F gg:%:
L 15/ oA
oL 1(5-
- OF9L | 6EG-
- |00

. =

2 Lol
O o )
[ Lol D

a | —
ol w9
= = O
(o] (o] Lol
Ll Lot —
~N ~N [
[a [a O




90~
f10-
o=
700~

0+670,00

Pk =

2%

Skala £100/100

PR. = 7500

- L9009
- 039L £ ol
- G99/ b 799
- QoL 169
- 999/ - 09
- 999, - B
(O gy b
- ¢09. YA
- 0Co/ - 06e
- GO/ YAY
- 199, - 06
- 999, F 299 £ 000
L l [‘9[ B 19‘9[ C ég%:
v | GLo-
= o9/ L £ C0e-
- 859L ST
- 859L 00—

.| =

= | O
O o )
[ Lol Rop)

a | —
o w2
= | =Z| O
O a8l o
o | oy |
~N | N O
x| x| O

90

10
600~

wo-

0467107

Pk =

Skala £100/100

PP. = 735,00

RZEDNE PROU.

- 699
- S0
LA

- GG/
- [GY

-9

-89

pRYAYA

L[99
199,

-9

gYAYA
aRUAYA
pUAYA

-9

-9

- 19

- 099
- 099
- 099

- 659

- 99 ¢

- 009

g

=
~

199

T
==
<,
L3

LBIVXRIS
[N N NS AT S s

T
B &
o~

- 06—
L o0-
E QZ Q‘

- 87
s
- 09~

- 002~

RZEDNE TEREN

/

ODLEGLOSCI




o0
120
AIS

0
90

&0

=0+677,26
Skala £100/100

Pik

PP. = 735,00

- ¥69L - 009
- 59 el
- 0T 9L
- gy oy
- 89 - Q7
- g9 YA
o A
09 r w9 1 /A
A - 052
oA Al
R E %D
- 189 [ 859 | 00D
L X o E wiz_
o9 [ 659L F ghOT
- 089/ - T
- 600/ L 1ol E OFS-
99 - 999 F ghe”
- P99 [ 9P
- /990 £ 00

| o=

2 (|
O o )
[ Lol D

a |
O ow | 9
= | =| &
[ =) Lol
Ll Lt —
N| N2
x| 2| D

04+680,00

Pk =

Skala £100/100

PR. = 7500

RZEDNE PROU.

A
0L
- €09

- §L9L
Ak

- 189

- 989,

- 169,

- g
- Y99/

- VCLL

- 19

A
A

- 9L
- 5L
- 5L

- 199

- 9

- 9

- LY F

- L

- 18y
A
05%
vaY

3

- bl
ool

- 00~

RZFDNE TEREN
ODLEGLOSC




0+683,46

Pk =

Skala £100/100

PR. = 7500

RZEDNE PROU.

9L
oL

- 039/
AL

- 989,

RRZ

- C69L

- 869,

- 169.
- 99

- 1GLL

- Ll

A

- v

Fo

- 659/
- 9L

- 659,

- 009

- o8

- 200

RZEDNE TEREN

/

ODLEGLOSCI

0+690,00

Pk =

000
0-
0~

90
10

*ngggl

%0
|

0
070,
000

Skala £100/100

PP. = 735,00

RZEDNE PROU.

- 999/
- oYL
- 0r9L

- 069/
- G6Y/

-0l

- 90LL

L

- SOLL
-89

- 1L

- 2L

- gL

- 99

- 699,

- 099,

- 009

- 500

RZEDNE TEREN

/

ODLEGLOSCI




0+700,00

Pk =

Skala £100/100

/

———

|

PP. = 735,00

- 96LL 009
- 008L [ ¥aH
- WL SYL
AR
- 099, -9
- 099, A
- -05E
g4t A
-1z - 052
- 180
- 0CLL 190
971 S 000
- o0sL FoIgl-
T zgji—
- IS - ggj%—
- QY RET
gy |l F B
adlL QJV‘Q_
- SOLL ST
L9/t 10G-
C [Of[ A
00ZL [ thS-
- 901 [ 00

. =

o Lol
) o= D)
[ Lol D

a | —
Ol w2
= = (@]
=) =) Lol
LV Lt —
N N (=)
(R (R O

Pk =

0+710,00

- (810 009
-0 ool
- S L
- [S1L SRAY
- g9/ - Q9%
- g9/ YA
Y Y
r G/ Ay
L - 062
oy T )|
9/ 90
-9V 0L F 000
- G/ | f01-
06l
- 161, ‘gﬂ - [8C-
oy [ e [ A
C i C gzig_
7=
- GLL | S9-
- SLL L5
- GGLL T 00
o

. =
2 212|8|g
= T | =8
o | w | =
= > 28 =
S Ol NN B
C_><j [n [n O




04720,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 0L
- 0L

- §G1L
il

- 19U

- 1L

Q1
wl

- 8L

- 108
- V6L

- %L

-0

T T
< ~M
= =
~ oa

RZFDNE TEREN
ODLEGLOSC

60~
080~

w0
I¢0-

¢00

100
601
OOQO

=0+730,00
Skala £100/100

Pk

PR. = 7400

- 190 F 009l
- 180 Foogll
- 061 8yL
- 1611 - 085
- 0CLL - 9%
- 0C1L -Gl
o - e
r L g = QZ‘Q
CLLLF ooyl ye
- 8Ll 067
- o6 6
L9 L #HD
- S8LLT gl T 000
- 11T 090
-8 ol
- LU F 9T
- 981/ - 067
I R 4o
PO L F R
- 2L e
- 98/ Y-
- 9670 %9
- 6L | LS9
. =
- Lol
O o )
[ Lol D
a | —
W ow | S
= = ()]
[ [ Lol
Lt Ll |
N N (]
(a- (a- O




90~

[0~
90

U

2%

00

0+740,00
00/

Pk =

PP. = 7400

- 9L 009
- 8L 60
- 6L 6
- 8L 06
- 1L - 65
Fos | . b B
it g
o Lo
~ 8L Ay
- 1811 - 05T
- 8L A
- %L %0l
- 68/ S8 00D
- 181 600
6l b 6
L 06‘[[ - Ozg%_
o [ B GE
- 91/ L G-
A oo Ore-
iy YL T O[S
- 06/ F 0GH-
RY/AR/As
- 66LL [ 69

. =

2 Lol
O o )
[ Lal D

a | —
w2
= = O
(o] (o] Lol
Ll Lot —
~N ~N [
[a [a O

000
90
090~

q.0-
o

00~

2%

100
80
OOQO

=(0+750,00
Skala £100/100

Pk

PR. = 7400

RZEDNE PROU.

- 611
- 0CLL
- 0CLL

- OLLL
i Z[é[

- 811

- 8L

- (811
i ‘Zl‘él

- 8L |

- Ll

L1

- 1L

- 681L

- UL
- 6LLL
i U‘é[

- 181

- gl

6v'L

- 59

- 9y
A

- &

RZEDNE TEREN
ODLEGLOSC




0+760,00

Pk =

100

Skala £100/100

PP. = 7400

Y/ iy
- UG gL
- 9L R4
-4l - 9
- AU A
- 7911 -05E
m 9L A
ST
- 8L 18l
‘ 100
o LILLL Lo
FSLLLE G E 01Q009
(L) geo-
6L LGl
- 08‘[[ . - %lg‘z_
P A A
Ly s
UL gre-
X'
LU WY
- L [ 0L

| =

= | &g
O o D)
[ Lal D

a | —
o ow | S
=Z | =Z=| &
) (o] Lol
Ll Ll —
N| N | ©
x| 2| S

04+770,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- GYLL

- 0L
- Y0LL

- 1S
m 9GLL

- 911

- 1911

- UL

- 99/,
-l

- 6CLL

- L

- 6711

- 911

A

51

w9

A
- 9y
A

- &

L 00‘ /-

RZEDNE TEREN
ODLEGLOSC




0+780,00

Pk =

PP. = 735,00

T %
it A
- 169 - ooy
- 169 - oy

)
o =
-4l - 8%%
et - 06T

ST

T

TR
- 09 L b 0D

TR

-Gl Foogl-

-l b 181
L 057

ULy F W
L 65, b IVLL E G
[ AL [ LT %ﬁg—

] -

TR

- 094 T 0SY-

- 894/ b 00—

. =

- Lol

O o )

[ Lol D

a | =

W ow | S

= = ()]

[ [ Lol

Lt Ll |

N N ()

(a- (a- O

0+790,00

Pk =

PP. = 735,00

- UL ST
- 99 -9
- 99 -G
-l - 05e
-8l -Gt
- iSL - 052
!
FISL 190
F6GLL T T 00D
- OFLL T TS0
- OFLL | %1~
- SHLL T 161~
g [ UL E G
G-
S AR
B QJV[[ B 89‘9_
- YSLLE IS
TSI T %
- 9L T 0L

. =

2 Lol
) o )
[ Lol D

a | —
w9
= = [
(e D Ll
L Ll —
~N ~N [
o~ o~ O




0+800,00

Pk =

Skala £100/100

PR. = 7400

LI Y]
- oL TS
- 107 - 9%
-0 BTG
- IG/L - 05e
- OGlL HRAY
- BGLL - 057
S e Al
Cobori kg0
v [ E G
- 09LL TS0
- 9L ool
- 097 F 80T
O &Y
L0911 i %%%Z
[L B Lg[[ B 87‘9_
LT 0
- 192 F 0L

. =

e Lol
O o D)
[ Lol D

a | —
L w9
= = ()]
[ [ Lol
Lt Ll |
N N (]
(R (R O

IS0~
IS0~

100~ f
100

100

0o

2%

a0~
000

0+810,00

Pk =

Skala £100/100

PP. = 7400

RZEDNE PROU.

- 861

- 0L
- 0L

- [GLL
- 6GLL

- 9L

- 0Ll

- (Ll

- 6GLL

- 19U
- 951/

&8
=

ey

- 9y
A

- &

A's
- [96-

L 00‘ /-

RZFDNE TEREN
ODLEGLOSC




90~
990-

9.0~
a0-

600~

‘2%

900

= (0+820,00
Skala £100/100

Pik

PR. = 7400

S OFL
I A
- 1L - 19%
v - 0%
- - GTY
- 09/ - 05E
- 99‘fz SRAY
- 1L - 05T
I
oL O 000
-9 50
- oL E 19
F &
- 181/ - 05—
. Lo
- SLILL oy £ BE-
[+ W F 8%9‘
- ISIL
- 8Ll L6
- 81 | 00

. =

e Lol
O o D)
[ Lol D

a | —
W ow | 9
= = ()]
[ (e Lol
Lt LV |
N N (]
(R (A O

04+850,00

Pk =

Skala £100/100

PR. = 7400

-9 oYL
- 191 AL
- 81 806
- 8L - 0%
- 8L YA
- 69LL - 05
- LI -GS¢
- L - 062
- 68 1T
- (810 090
- 81 08000
- PLLL [ 650~
- L 8-
- U N
- (81 N gg:%—
B P
-8 T ng_
- S
- 8L I8
- 98 [ 001
‘ =
— [
O o D)
[ Lol D
[ R —
ol wl S
= = (@]
(o] [ Lol
Ll [l —
~N ~N (=]
[a [a O




Ky 3 £ £ | L I | | | |
¥ ¥ 58 W E 58 Sg5 somsmu it 8 ¢ 050393100
ER= ®® I 3% B S 3 o3 o N1 T2
S BH oy B & 2 = TOHd INTIZY

00/ = 'dd

001,/001 DR¥S
00'068+0 ="d

£ 5 — £ [ | [ | | |
3 g 8% 8 &8 38 Bgg sawass 402 = 050793700
5 28 9 & = §8 §| v

B 5o oY o = 2 o TOMd INTIZY

00/ = 'dd

001/00L1 oS
00°0¥8+0 ="1d




04+860,00

Pk =

Skala £100/100

PR. = 7400

RZEDNE PROU.

- 081L

- Ll
A

- Ll
i t[é[

- 08LL

- gL

- 061L

L 1811
8LL

- 8LLL

- 8L

- 081L

S
i 9[%[
- Sl
- GLLL
- BLLL

- 98LL

I8

- GLLL
- GLLL

- 611

Ay

AR

RZEDNE TEREN
ODLEGLOSC

0+870,00

Pk =

Skala £100/100

PP. = 7400

RZEDNE PROU.

- 181

- 99U

1T L

- 19U

- 86/ ¢

m 66
- 9L
-9
- 9911

- 891 E

- LU
- 89U
- Sl
- L1

YA

- CoY
-Gy
Y
C05¢
A

RZFDNE TEREN
ODLEGLOSC




RS s ) — Ks | [ ! |
& SHt BB B2 B S08 9 DS a5 8 38 050793700
o 2 o mwe B = = 3§ = NTH3L INTIZY
288 # & 3 3 == TOMd INTIZY

00/ = 'dd

001,/001 DR¥S
0006840 ="d

- )¢ [ | | |
3 22 5% o B SE0s SSbele £ & 050793700
~ ~ - ~
& = T E=H3 %8 § =83z o NTH3L INTTZY
& 33 & 3 3 5 TOMd INTIZY

00/ = 'dd

001/00L1 oS
001088+0 ="1d




L
s
-9y
A
5%
Ay
- 067

BE=

17_

050493100

- B

25

91 9
- SYLL | 199

- 9L 0L

NFIL INCIZY

LL

L
A
A
- GLL
- 097L

T08d INTIZY

90

00/ = 'dd

001/00L1 oS
0001640 =1id

159

0_
E‘_
E‘_
E‘_

(;

L éO
8

050795100

- 0L TSL
- [Tl

1 F 0T

- 89U O
- 89U 18-
- 89U [ 80y
- 9L 0oL

-9

NFH3L INCIZY

U'OQ‘L[

g
¢

T oL

- 89

T04d N2

= | |
= S Ey Bk
NS
=X = 02X
3 3
3 =
%C

007/ = 'dd

001/00L1 oS
007006+0 =d




< i€ Ks RN | | [ | | | |
B 5 55 85 & EEBg g LB & 08 2 050793700
~ ~ ~
= = S8¥gs &8 =/ & § & N1 INTIZ
o 88 &= & 3 3 53 TOMd INTIZY

00, = "dd

001/00L1 oS
00°0¢6+0 =d

— | |
T8 550 EEEE B OBt Sedlidd A 2 2 050793100
=~ 2 & # H8 3 #= 8 e NESEIRENEEN:
dg2 = 3 = 3= TONd INTIZY

00¢L = dd

001/00L1 oS
00°026+0 =id




000
90
090~

q.0-
o

100~

2%

100

= (0+940,00
Skala £100/100

Pik

PR. = 7500

RZEDNE PROU.

- L

- 989,
- 989,

ey
rLELL

- eVLL

- 8vLL

- GLL

i
8GLL

- 6L

- L
- 9vLL
- [’v‘é[
- 8yl
r1GLL

- e91L
- 1L

- 05LL
- 0GLL

- 65LL
- 1L

- GLL

&

- IGLL

oL

RZEDNE TEREN

/

ODLEGLOSCI

04+950,00

Pk =

PP. = 735,00

- UL Sl
- oL LS9
- UL - 196
YA - 9%
SRYAA A7
- CCLL - 05T
- Gl A
- 18U - 06¢
- 9L T
¢ B 8Z‘L B ZZ‘O
Y gz‘fz 000
- 6L Q-
- 60LL T 681-
Ly ., L 0ST-
WLL - gy gg%_
| ggt U L ) —
it A
- OLL T 9%
LG/ L v
L[ 8%
aAY T N
- OV 00
. =
2 Lol
O o D)
[ha Lol D
a- —
Ll w9
= = (@]
(e [ Lol
[l Ll |
N N (]
(A (R O




04+960,00

Pk =

G-

G0~

o
@00

00 [

Skala £100/100

PP. = 735,00

- 0L 6L
- $01L Y
- 09°9L - QoY
- 09°9L A
Sy - 05%¢
i Zlé[ Ay
- 9L - 052
- 0L 0
- 80LL [ SLD
- CCLLF 60L 00D
- 02 [ 6el-
L L 067
WL |, LG
gy [ Ll [ B
[CLL ZQ‘Q_
L 9CLL L 8T
LTI | Y-
N 62‘21[ L 196
oL E G
6CLL | LLG
- 9L 00~
. =
e L
O o D)
[ Lol D
a- —
ol w9
= = [
[ =) Lol
Lot LV —
N N (=)
o= o= O

04+970,00

Pk =

PR. = 7500

RZEDNE PROU.

- 69
- 87
- 87y
- %Y
- 001L

- 90U

YA

- 099

- 859
- B
- 189

- 8
A

1] B 86‘9[

A
A
- G569
- 00LL

- 669

- 099

eyl
10

-6
- 9f
YA

- &

RZFDNE TEREN
ODLEGLOSC




[£0-
[£0-

70 [

00 -

0

04+980,00

Pk =

1.0
90

000 N

000

Skala £100/100

PP. = 735,00

RZEDNE PROU.

gAA
9L
9L

i

- C69L

- 869,

- QULL

- 199L

- 69

- 659,

- G

899,

559
e

- 199

=
~

A
- 597
A

- 05
- &

- 097

- 09~

- 002~

RZEDNE TEREN

/

ODLEGLOSCI

00

0+990,00
00/

Pk =

PR. = 7500

RZEDNE PROU.

- 069L
- €9
- €09

- £L9L
Ak

- 189

- 989,

- 169,

- oy
- C99L

A

- 169,

- 189

- 99/
- £19

- 659,
- 959,

- 9L
- 999,
- 199L
- 859,

- G99
- 9L

- 959,

- 269
- 369

- 009

K
~

- 996
- 597
A

- 05
- &

- 097

RZEDNE TEREN

/

ODLEGLOSCI




%0~
%0~

80~
90

10~

;

600

04+993,81

Skala £100/100

Pik

PP. = 72,00

- g 009
- (89 - Qg 000
- ¥6SL - Goq 80~
- 6L S| 660~
- 9L - 05 050~
- 0y - Gl 670~
- 759L - 051 -
-0 oTL
L 069/ L9l
9L [ 1]
G99 000 800
- 659 9/ N
- 99 o6 N
LT A .
- 089, - 05C- #0
‘ o ‘
75T N Il
g [l F e it
B 89‘9[ I 08‘9—
- 199 [ -
- 0% de
- 8Y9L [ 00—
. =
3| Bl | 38
[ Lol Nos) O~
a — I [N )
[ Lol = ()
= | =Z| & = =
(e [ Lol
S g L8
o o O = X
O

PP. = 72,00

RZEDNE PROU.

- 889/

- 69
- 69

- oL
T YL

- 059,

- 89/

- Lo
EE

YA

- 989,

- 10LL

- 669

299/
E 900/
9
- 099,
- 199,

- 999,

19 b

- 859L

- 659,

- 9L

- 69

199

009

- 60G
- 599

- 054
- GCd
- 05l

4l

¢0G

L 00‘[-

RZEDNE TEREN

/

ODLEGLOSCI




160~
160~

80~
wo-

¢00

1o
801
0000

1+010,00

Skala £100/100

Pik

PR. = 72,00

RZEDNE PROU.

A

- 086,
- 086,

-

- 809,

- 199

- 999,

- 099/
059

- 99

- Y

-89
pRYAYA
3
A

- 659/
- 99

- 1G9
- G

A
- 1G9

- L

-

Ogt
- Gd
- oSl

AL/

ALY

- U009

- B

9l

A

- 8L

109

RZFDNE TEREN
ODLEGLOSC

%0~
980~

Yy
-
[0

2%

100

Pk = H+012,81
Skala £100/100

PR. = 72,00

RZEDNE PROU.

- £99L

- 9/
-9/

- 929/
- 809

- 9L

- (G

AL

- 959/
- 959,

-9

-9

LA

A

- %61
- 8GH

- 9%
A

Ogt
cd

608

TAY

T
o
O~
—

S5

o
(et

RZFDNE TEREN
ODLEGLOSC




